

Cost Proposal

West Virginia State Treasurer's Office Advertising, Marketing, Event Management and Promotional Services CRFP STO 170000001

Company Name:	Amplify Relations
Address:	140 Washington St., Ste. 150
	Reno, Nevada 89503
Telephone:	(775) 453-0618
Fax:	(775) 360-7777
Federal Tax ID Number:	46-3291686
RFP Contact Person:	Megan Bedera, COO
Contact Telephone:	(775) 453-0618 x103
Contact Email:	Megan@AmplifyRelations.com
Signature:	Migan Badera
Date:	October 27, 2016

Amplify Relations West Virginia State Treasurer's Office CRFP STO 170000001 Cost Proposal

Item	Page Number	
Title Page		0
Tab 1: Table of Contents		1
Tab 2: Attachment C - Cost Sheet		2
Tab 3: Vendor Preference Certificate		3
Tab 4: Purchasing Affidavit		4



Attachment C: Cost Sheet

Cost information below as detailed in the Request/or Proposal and submitted ill a separate sealed envelope. Cost should be clearly marked.

Bids for hourly rates and service charges shall include all costs, including travel and overhead. The Agency shall not pay any other fees or costs.

Insert the amounts you bid for the hourly rate and for the service charge. Multiply the estimated hours by the hourly rate you bid and multiply the amount of subcontracted services by the service charge percentage you bid. Enter the total at the bottom.

The Vendor understands that all services will be provided and billed for based upon actual hours. The hours provided are general estimates only and shall only be used for evaluation purposes. The Agency makes no guarantee to the actual quantity of services that will be required by the Agency.

Services	Estimated	Hourly	Total
	Hours	Rate	
Consultation	100	\$125.00	\$12,500.00
Design	300	\$125.00	\$37,500.00
Research	150	\$125.00	\$18,750.00
Print Media	100	\$125.00	\$12,500.00
Television Media	15	\$125.00	\$1,875.00
Radio Media	25	\$125.00	\$3,125.00
Social/Website Media	25	\$125.00	\$3,125.00
Publication Production	50	\$125.00	\$6,250.00
Event Planning	100	\$125.00	\$12,500.00
Survey & Analysis	50	\$125.00	\$6,250.00
<u>Other</u>	50	\$125.00	\$6,250.00
	Estimated	Service	
	Cost	Charge	
Media/Advertising Buys	\$250,000	15%	\$37,500.00
Subcontracted Services	\$30,000	15%	\$4.500.00
Total			\$162,625.00

If applicable, sign and submit the attached Resident Vendor Preference Certificate with the proposal.



West Virginia State Treasurer's Office CRFP STO 1700000001 Cost Proposal

WV-10 Approved / Revised 12/16/15

State of West Virginia VENDOR PREFERENCE CERTIFICATE

Certification and application is hereby made for Preference in accordance with West Virginia Code, §5A-3-37. (Does not apply to construction contracts). West Virginia Code, §5A-3-37, provides an apportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the West Virginia Code. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Vendor Preference, if applicable.

	Application is made for 2.5% vendor proference for the reason election: Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately proced into the date of this continuously.
	ing the date of this contilication; or, Bidder is a partnership, association or corporation resident vender and has maintained its headquarters or principal pisco obusiness continuously in West Virginia for four (4) years immediately preceding the date of this certification;
	Biddier is a resident ventior partnership, association, or corporation with at least eighty percent of ownership interest of biddor hold by another entity that moots the applicable four year residency requirement; or,
	Bidder is a numersident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within Wost Virginia continuously for the four (4) years immediately proceeding the date of this certification; or,
	Application is made for 2.5% vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
<u>.</u>	Application is made for 2.5% vandor preference for the reason checked: Bidder is a nonresident vendor that employs a minimum of one hundred state residents, or a nonresident vendor which has an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia and employs a minimum of one hundred state residents, and for purposes of producing or distributing the commodities or completing the project which is the subject of the bidder's bid and continuously over the entire term of the project, on average at least seventy-five percent of the bidder's employees or the bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years and the vendor's bid; or,
	Application is made for 5% vendor preference for the reason checked: Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or,
<u></u>	Application is made for 3.5% vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard and has resided in West Virginia communously for the four years immediately preceding the date on which the bid is submitted; or,
<u></u>	Application is made for 3.5% vendor preference who is a veteran for the reason checked: Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years.
7.	Application is made for proference as a non-resident small, women- and minority-owned business, in accordance with West Virginia Code §5A-3-59 and West Virginia Code of State Rules. Bidder has been or expects to be approved prior to contract award by the Purchasing Division as a certified small, women- and minority-owned business.
or (b) as:	inderstands if the Secretary of Revenue determines that a Bidder receiving preference has tailed to continue to meet the tents for such preference, the Secretary may order the Director of Purchasing to: (a) rescind the contract or purchase order; sees a penalty against such Bidder in an amount not to exceed 5% of the bid amount end that such penalty will be paid to racking agency or deducted from any unpaid balance on the contract or purchase order.
By subm authorize the requi	ission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and as the Department of Rovenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid ired business taxes, provided that auch information does not contain the amounts of taxes paid nor any other information by the Tax Commissioner to be confidential.
ing Divis	nereby certifies that this certificate is true and accurate in all respects; and that if a contract is issued to Bidder sything contained within this certificate changes during the term of the contract, Bidder will notify the Purchaston in writing immediately.
No.	Amplify Relations Signed: My Bullica Signed: S
	Actober 23, 2016 Title: Chief Operating Officer y combination of preference consideration(e) indicated above, which you are cristled to receive.
	, and the control of



STATE OF WEST VIRGINIA **Purchasing Division**

Purchasing Affidavit

MANDATE: Under W. Va. Code §5A-3-10a, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

EXCEPTION: The prohibition listed above does not apply where a vendor has contested any tax administered pursuant to chapter eleven of the W. Va. Code, workers' compensation promium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, failure to maintain mandatory workers' compensation coverage, or failure to fully meet its obligations as a workers' compensation self-insured employer. An employer is not in employer default if it has entered into a repayment agreement with the Insurance Commissioner and remains in compliance with the obligations under the repayment agreement.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vender by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (W. Va. Code §61-5-3) that neither vendor nor any related party own a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

WITNESS THE FOLLOWING SIGNATURE:

My App. Explies Nov. 1, 2018 STATE OF THE PROPERTY OF THE P

Vendor's Name: Amplify Relations	
Authorized Signature: Millian Streduce	Date: 15 23/14
State of NEVADA	
County of VASHOE to-wit:	
Taken, subscribed, and sworn to before me this 22 da	y of OCTOBER 2016.
My Commission expires Nov 1	
ASPIX FILENT RICHARD O'GRADY Notary Public - State of Nevada County of Westros APPT. NO. 14-15048-2	NOTARY PUBLIC Purchasing Attidavit (Revised 08/01/2015)

